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1.

Solve
f(x + 1) — {(2z) = 0.5.

You must show your working.

Solution
Now,
C(z+1)-3
fH D= 2w+ 1)
. x—2
S 2+ 1)
and
~ (22) -3
f(2z) = 2(20)
_2z-3
4z
Next,
B x—2 20 -3
f(x +1) —f(22) =05 = 2w 1) ” 2
LCM[2(x + 1), 4z] = 4z(x + 1)
2r(x —2) — 2z —3)(z + 1)
=
dr(x + 1)
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_ (207 —dx) — (22* — 2 —3)

dr(r + 1) 2
202 —4x — 22 + 2 +3
= - 1
dz(x + 1) 2
—3r + 3 1
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= 2(—3x +3) =4dx(zx + 1)
= —6x + 6 = 42? + 4z

= 427> + 102 -6 =0
=222 +52-3) =0

add to: +5 1 46
multiply to: (4+2) x (=3) = —6 ’

= 2[22% + 62 —x—3] =0
= 2[2z(x +3)—1(z+3)] =0
=22z —-1)(z+3)=0

:>x=%orx=—3.




